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35 Wha‘c is. the mam ldea ofihe Passage? ; ey . S AT R —

energy ofllght st —j B, refraction of light |
¥C, use ofllghtln Ienses o - D nature ofhght

6. The word " others in ’che first paragraph refers back tor

A partrcles ' B. ideas
_-E:_\/Qars . o o DA A e _’.?,D.,A_‘:ph'ysj"czi‘sts. TP

37. The word " theory" in the first para.gra.ph means:

_A. scientist : ' _B.idea
'C;-story» - o S Dphysmrst

",'_L

38.The guantum ’cheory specified that the-behavior of light is similar to,..

A a wave traveling through a space : _' B ‘aform of energy
C a stream of elements T D answers-in both "A"and "C"

39, The word ! scatters” in the second paragraph means:

A thrOWS o . ,’ R iy i ARl *'__‘B’rGOHECtS‘ - :
C gathers i PRI, -4 0 | 7 o'~ MR SO

/10’



_ugly
D rude

D pollutlon

m ’che mormng, so they should ,be fresh

.r_bugh't- e L B-brought
C was brought : - A ;Q_fba_r,e,brought

,'A..The'r,e re- = B.There’s

| C.They're | | 7D, There
END QUESTIONS
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Subject: English
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STUDENT NAME : . o _ ID: 2,457

SECTION 1: READING COMPREHENSION

Read the foﬁuwmgpjssa e and ﬂlen answer the 'nestmns that foIIDW'

Orw’Ee an& Wﬂbm ’anhf had alwa}rs ha& a compg mterest in aercnaubcs and mechamcs As young
boys they earned money by making and selling kites and mechanical toys. Later, they designed a newspaper-
folding maa:hme built a printing press, and operated a bicycle-repair shop. In 1896, when they read about the

eath of Otto Lilienthal, the brothers' interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding. had confrolled his gliders by shifting his body in the desired
direction. This idea was repellent to the Wright brothers, however, and they searched for more efficient
methods to control the balance of airborne vehicles. In 1900 and 1901, the Wrights tested numerous ghiders and
developed control techniques. The brothers' nability to obtam enough lft power for the ghdm:s almost led them
to abandon their efforis.

After further study, the Wright brothers concluded ﬂmz the published tables of air pressure on cmved
surfaces must be wrong. They set up a wind tunnel and began a series of experiments with model wings.
Becanse of their efforts, the old tables were fepeaic& m time and replaced by the first reliable figures for air
pressure on curved surfaces. This work, in turn, made it possible for the brothers to design a machine that would
fly. In 1903 the Wrights built their first airplane, which cost less than $1.000. They even designed and built their
own source of propulsion-a lightweight gasoline engine. When they started the engine on December 17, the
airplane pulsated wildly before taking off. The plane manag&d to stay aloft for 12 seconds, however, and it flew
120 feet.

By 1905, the Wrights had perfected the first airplane that could turn, circle, and remain airborne for half

'n howr at a time. Others had flown in balloons and hang gliders, but the Wright brothers were the first to build a
wall-size machine that could fly under its own power. As the contributors of one of the most outstanding
engineering achievements in history, the anht brothers are accurately called the fathers of aviation.

1 - The Wrights' interest in flight grew into a/an

(A) unimportant thing (B) financial crisis

(C) obligation . (D) foolish thought
2 - The pronoun ' their’ ( paragraph 1 line 5) refers to

(A) reactions (B) fools

(C) Wrights (D) people

3 - Though liked by many people, the idea of flying an aircraft was
others. i
(A) boring (B) distasteful
(C) exciting (D) out-dated
4 - The word ' efficient ' ( paragraph 3 line 2) most nearly means

(A) expensive : _(B) inactive
(C) destructive (D) effective
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43 : The old tables were and replaced by the first reliable figures for air
pressure on curved surfaces.
(A) destroyed (B) invalidated
(C) multiplied (D) approved
6 - People thought that the Wright brothers had ;
(A) acted without thinking (B) been negatively influenced
(C) been too cautious (D) been mistaken

SECTION II: VOCABULARY

Choose the item which is closest in meaning to the word between the inverted conmmas

7 - The rays from the rising sun shined "splendidly” through our kitchen window.
A) quickly (B) slowly
(C) badly (D) wonderfully

8 - Dad had no need for the broken air conditioner, so he "discarded" it on the corner by the
trash.

(A) look after ' (B) throw away
(C) look for (D) get back
9 - Because he had such good friends and family, Jack considered himself "fortunate”.
(A) quickly (B) slowly
(C) badly : : (D) lucky
10 - Nuclear weapons have had "disastrous” effects on our life .
(A) wonderful Sk (B) harmful
(C) precious (D) useful
SECTION lll: STRUCTURE: Choose the best answer
Vs i svionviieibunsasarsinie has been here for months.
(A) Ali and Ahmed (B) These women
(C) Their car (D) You
12 -Dinner ...........c.cvevnvo... €arly last night ?
(A) cooked (B) was cooking
(C) was cooked _ (D) will cook
13 -When | went to bed last night, | was tired because I ..........cccceemrrevcrennnen. for a long time.
(A) was working (B) have been working
(C) work (D) had been working.
14 -Harriet ..o longer in Vienna if she had more time.
(A) had stayed (B) would stay
(C) will stay (D) Has stayed
15 - | trusted him but then he _
(A) saw me off : (B) let me down
- (C) put me up , > : (D)-get me-everything
16 - Did she do her duty? The passive form of this sentence is
(A) Did her duty done? (B) Was she doing her duty?

(C) Was her duty done? (D) Is her auly done?
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